Name (please print): ANSWeErs
Math 250 Quiz 2, Monday 6 October 2008, 1 page, 20 points, 20 minutes

(11 points) Rewrite the formula ((m) — (av)) A ((ms) v (=(m2))) with as few
parentheses as possible for a correct formula.,
Then, below the formula, draw a tree diagram for it. Then label each subfor-

mula with its ranl.
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(9 points) The string w3 v —my — 7y 1s not a formula,; it has too few parenthe
zes. By inserting additional parentheses into w3 % —my — my in different ways,
obtain three correct formulas that are different in the sense that they would hawve
different tree diagrams. (You are not required to draw the tree diagrams.
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